Score: out of 10.

Math 271 - Quiz #6
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Show all work clearly and in order. Please box your answers. 10 minutes.

1. Complete all of the following parts. You may not use the auxiliary/characteristic equation

method! -
(a) Verify that y; = e~® and ys = €2® form a fundamental set of solutions of ¢/ — 3 — 2y = 0 on
(—00,00).
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' — 2y = —6sin(2z) — 2 cos(2z).

(b) Verify that y, = sin(2z) forms a particaular solution of y” —y
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= —6sin(2z) — 2 cos(2z).

(c) Use (a) and (b) to write the general solution of 3/ — 3’ — 2y

y= ¢, 4G e” + sm(ax)

General Solution:



